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DO NOT OPEN THE BOOKLET UNLESS YOU ARE ASKED T0 DO S0

FIRST READ FOLLOWING INSTRUCTIONS CAREFULLY.

The candidate will fill up required particulars including his/her roll no. and signature on the OMR

sheet with ball paint pen (Black/Blue) in the appropriate boxes.

Ten minutes before the commencement of the test, question booklet snd OME sheet will be distributed

o the candidates.

Immediately on opening the guestion-booklet, the candidate should check the booklet & OMR sheet

und ensure himseliMerself that it contains 90 multiple cholee questions {Sr. No. 110 90). Discrepancy,

if amy, should be reported by the candidate to the invigilator within 5 (five) minutes of the opening of

the question bocklet and should ask the invigilator for replacement.

For each guestion, four suggested answers A, B, C, D are given. The candidate is - oose oniv

one unswer which he/she considers the correct or the best one, IT candidate darkens mare than

one clrele or cutting/overwriting/erasing (by eraser, white fluid or any other chemicals) then

such nnswer{s) shall not be evaluated.

The answers should be marked by darkening appropriate circle provided in front of the concemned

serial nimber on the OMR Sheet only with black/blue pen. Use of pencil is not allowed. For instance,

while answering the Question No.26 of the question booklet, the correct nnswer A or B or Cor D at

sertal No. 26 of OMR sheet should only be darkened.

The candidifte should be careful in handling the question-paper and in darkening the answers on the
] ] i i g i AEIgE 41 not he snpplied LES &

sl IS hE ULLE

Bringing of incriminating materials/electronic gadgets/davices including cell phone in the premises of
the examination centre is strictly prohibited, Possessing of incriminating materials electronic gadgets/
devices and any other aiding material in the examination room will be u serious offence and it will
attract the cancellation of the candidature.

The candidate will not be permitted (o leuve the exumination hall before the conelusion of the test. The
candidate should make sure that question-booklet including OMR sheet is haaded over othe invigilator
before leaving the examination hall at the end of the test, failing which, a case of use of unfair-means/
misbehavior will be registered against him/her, in addition to ledging of an FIR with the police. Further,
OMR sheet of such a candidate Will not be evaluated.

The candidute can do rongh-work on the back of the title cover of question booklet. Rough-work on
OMR sheet is prohibited.

Mobile Phones are not af all allowed inside the Examination Holl

It is for the information that entire examination shall be recorded by video cumera and impersonation
shall fead 1o disqualification and registration of Police Case.

Calculator Is not allowed,
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| I.J/"‘i‘l"h.at would you do if you find out a colleague is accessing unauthorized files 7
ATV would try to stop him/her personally.

(B) Will ask Him/her that why he/she is doing, this.

(C) 1 would immediately report to the higher authorities.

(D) lgnore him/ber, as | can'i do much.

o IOE W TEEA SEuTd WA o% TE9 T ¥, A A s s 7
(A) § =8 =ferm w7 B dwY S OwW FET

@y 7wt oA oW oW R

(© ¥ wu T= shwrd § fdd wem

) # =@ swwm wEn w@E § W g T R T

What would you do if a hurried visitor resists metal sceccning while entening the

premises 7 v

(A) Frisk him forcefully

(B) 1 would convinee the visitor to calm down and cooperate for the sake of
their own security and that of the premises.

(C) Tgnore him/er, as | can't do much,

(D) None of the above

offin § wan w0 W ok = gy wRn W fEw s 8 S Sm own

w7

(A) 98 wEwEn dErEm

tﬂ]iwﬂmﬁﬁﬁnmﬁwﬁmmqﬁmimﬁﬂ
fae oEm =

(©) # Fwm W wiE § TR ogE W o EEm

(D) svgm 4 4w

M-8-A 1 P.T.0.

J
L

h—




1v3S

E
/

If somebody has come togmeet to your Officer, what would you do ?
(A) Will greet and ask for his refercnce

(B) Stop him and will try to get information about purpose

(C) It is not concerned to me

(D) None of the above

o & amE afeert A fed o # @ osm w8 )
(A) sfqErR wem st wew Wi f

(B) 38 THm R 0% I[EW W TEEH WS FE

(C) T74 WU W Hdw T @

(D) s/w & & = T

/1f Telephone of your Officer is ringing continuously in his absence, what wiotld

you do 7
(A) Will receive the call {By* Ignore the call
(C) Put receiver on side - (D) Unplug the telephone cable

oy woE FNEH F IEE TEE FqehEh 9§ ww W w6 @
o o
(A} ®TE WA FEm (B) T ® FTEEm we

(C) TR =t s w@ 4w (D) et =aw 7= dm

Distributing official daks is part of a peon's duty :

fA) Yes (B) Mo

{C) Occasionally (D) Can't say
sumeE wE fwfn % U wood oW o 2 .
(A o ®) = '
(C)y witgaer D) *5 7 ==
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‘ﬁ. Which is mor a part of Peon's job 7
W (A) deliver local official letter to other offices
(B) Take official message for Officer in his absence
(C) Attend to any official work entrusted by the Officer
(D) Taking attendance of office staff
| FofefEn § # UR wwRl w osH s oW £ 2

(A) Bl STEETS 96 W W= ATeE d fefe s
(B) #HuFm F oimf F affefomm oiwm S99
(©) sfeEdt g W @ TR o siiefeme w9 wm @
(D) =ifrm =i st ool &0

Which is mot a pant of Peon's job :

(A} Attending the bell of Officer

(B) Ensuring the sitting arrangement in the Officer's room
(C) Maintaining Cleanliness in the Officer’s Room
(D) Deciding the place of fumiture in the Officer's mom
AyrE & e oW um W Wi 2 7

(A) firmrlt = avdt agE wm

(B) #fimdl & #9 # 4= = =men ghfrm w5
(C) #fFmr & wwt o #AwE TG =

(D) 5MEm % =W H WA TEd W S a9

8. ./ Which is mor a part of Peon's job 7
{A) Bringing and serving Water to Officer
(B) Serving lunch w Oflicer
(C) Cleaning the dining place
(D} Cleaning the vehicle of office staff

M'E‘A 3 PlTlﬂ &
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m%mmmﬁmﬂﬂé?
(A) #ifFm = fan oAt s ol d s
(B) simeet % fow v @ s wie
(C) =rsfFm = Wt wE

(D) =Me % =% It W ww o=

9 : Carrying Files between olfices is a job of ;

R (B) Office Assistant
(C) Clerk (D} Personal secretary
Al H W @ WA oW owd fEew § )

(A) =HE (B) =ifem =ems
(C) o= (D) = wfss

10. FH‘ somebody is trying to enter directly into your officer's cabin what would you
o 7
s (A) Stop him foreefully
(B) Stop him by shouting loud
(C) Immediately call the police
(D} Stop him politely and ask the reference
R w g sMHw ¥ R A @ wm o wE s s owto@ sm
oW 7
(A) werEw T
(B) # @ fosemmn 059
(C) Tr= g gew - -
(D) frmmrEs %0 3 wes Wt § 48

=
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1L You went 1o a section of your office to defiver a routine file but the in-charge is
‘uf not present, what would you do 7 :
(A} Will inquire snd find out thay person ultimately
(B} Will hand over the file to another staff of that section and will take receiv-
ing in peon book
{€) Complaint your officer about this
(D) None of the ahove

{A]‘{ﬁmﬂ‘fﬁhmaﬁm‘tﬁmﬂrﬁ
m}aﬂﬁm#ﬁsﬁrmmﬁmaﬂwﬂﬁuﬁwmﬁﬁ

R & =
©) % W F a9 aem 3 foreran it
(D) 3w f & =%
12. / A Xerox" Machine can't do : ;
V" (& Photocony (B) Print
(C) Multiple capies (D) e-mail
UF W wiA W s owwd .
(A} T2 (B) fiiz
(C) wwifier =it (D) 9=
13, ﬂ/gﬂnpaptr photocopied, you don't need
(A) Paper (B) Power.supply
(€} Photocopier (I} Internet
TE U W SR sER R Py amve Ao, W #
(A) W9 (B) Wi www
(C) Wiy . () v

M-8-A 5 P.T.0.



A4. A fax machine can : .

' (A) Send e-Mail (B) Give Printout
(C) Record Messages (D) Send and receive documents
UF hew Wi W OwHE ® :
(A) $-9m @ fiz s
() W frsid (D) TEwES w® A AW W S

. When receiving a phone call, at first, you shoold :
\./ (A) Greet the caller (B) Ask the name of caller
(C) Tell your name (D} None of these
WW WM W WW ¥ OWEY, W9H Ve S wOT ey
(A) ¥R w6 AW W AEE (B) W ORE A oW oW e

(Cy wwn am @) T & wr
6. When your Officer is having official conversation with somebody in his office,
you should : .
(A) Stand there
(B) Sit behind

(C) Move to your designated place

() None of the above

W ST e aw afew A fedt [ M STEW W weNE WW W
W W, W smwmr =

(A) =51 =@ T

(B) uF 3R W8 W

) 77 fffe o w e - -

@) 3w F A wE W
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17. ~When your Ofhcer i1s nof present in his office, you :
v,;“; (AY -y g0 Bt social talk with somebody
{B) may go for a break for having tea‘coffee
(C) Should be present at your designated place
(D) None of the above
AT SEE wE e F sy wff & o5 oam
(A) it & wmfes =@ A % fau oW owen
(B) =M 99 F faw W wed §
(€ @ Fiff= e W AR w9
(D) 37w 9 # =i
18, ngywummﬁnuﬁngmhfnmhn about somebody, you should ;
/(A) Hide the reality
(B) Tell everything you heard from others
(C) Take it as opportumity against that person b
(D) Give the information you observed and sure aboilt
M S A Rl % oWt o§ wEwdl oW o o=, swt owilen
(A) =mafasw =t o]
(B) gHt # [l B B AW W AW &5 Wi
(C) 30 =@ & faers sEm im0 ©
(D) % o dEn i TE wt A g ¥ o % I W

19. .Job of a peon is ;
{A) Not impertant position
(B} Meant 1o serve
{C} A manipulative position L
(D) Nome of the nbove

M-9-4 7 P.T.O.
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(A) mEege s
(B) Ha w

(C) o = feaf
(D) Tm A @ wr

7 I value having fun more than being serious sbout job |

(A} Strongly agree (B) Agree

(C) Somewhat agree (D) Disagree

™ owd F oW o el wN R sfus www owen smmo e #

(A) R T (B) wEeR

(C) ®& ¥ (D) awEwm
H.Ha’:mkcputtngdnﬁp‘mg-:
/() stongly agree ®) Agec

(C) Somewhat agree (D)  Disagree

#§ e W oww €

(A) TR T (B) wEw

(C) B wwm (D) s
\zyi'mﬁmﬂammmmmwmmmw:
=~ {A) Strongly ngree (B) Sometimes

(C) Strongly disugree (D) Disagree

4 dun iRl @ svm w0 % fu uew wEem oiems oW
wam = € .

(A) WHER wEw (B) =vit-w

(C) W swemm (D) e

- i
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yﬁmi myself trying 1o remember what | was about o do next
L
A {

A) Strongly agree {B) Agree
(C) Somewhat ngree (D) Disagree
§ w9 T wm o W owm Fwm f fR F ot s oS oA W
(A) S FEEn (B) wEEA
(C) %@ W"Fm (D) “AEEEN

24.- | have trouble petiing back to work after [ have been interrupted :

\ (A} Strongly agree (B) Agree
(C) Somewhat agree (D) Disagrec
moafE B % I W oww o6 § W @ om §
(A) T HE (B) weHa
(C} =& HIHq (D) &WmEva
25. /1 spend more than 1 eam. y
\.//{A}Eﬂmﬂh'ﬂiﬁﬂ (B) Agree
(C) Somewhat agree (D) Disagree
# fm wuw § oSWE W oEY W % :
(A) HER HEH (B) w|ewHd

(C) HU HEAn (D) SaETa

26, Viheck my messages inbox frequently throughout the day

{A) Strongly agree (B) Agree

(C) Somewhat agree (D) Disagree

f ot e oo w QW owew dwm o = :
(A) T TETR (B) wEEn

(C) §2 T . (D) #EETE

M-8-A -] P.T.O.
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/@) Swongly agree (B) Sometimes
() Strongly disagree (D) Disagree
mmﬂmmwﬁﬁmm#mi:
(A) 97ER wE (B} il
(C) #ER swasm (D) T
28. @' need a push 1o get started -
/" (A) Strongly agree (B) Agree
(C) Somewhnt agree (D)  Disagree
aﬂmwﬁiMEMaﬂmiz
(A) ¥R Hemm (B) e
(C) =& wEw (D) wmwey
zyﬁ?m.iq:pmprcwﬁnmwqur v
\/wwm (B) Apres
(C) Somewhat agree (D) Disagree
ﬂ'ﬁﬁﬂmﬁﬁitfﬁﬁwﬂﬁﬂﬁ?ﬁﬂmaﬁf:
(A) WHER @ (B)
(C) =7 o (D) s
\/d. If'yﬁhknuw}rmnmguumywimﬂ.nnlyufn-u!mul:[n‘lst:ul:
(A) Disagree (B) Agree
(C) Somewhat ngree (D) Strongly agree
w&mmﬂt#mmﬂﬁﬁmtﬂmww#m
C o i . -
(A) =T (B} =emm
(Cy |= W g (D) =R TEwy

M-2-A 10
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GENERAL ENGBSH

\/’,(. Fill in the blanks with suitable Anicles -

He is..oonin infermedinte,
(A} none (B) the
(€) an (D) a

32; Which one is best choice of indirect 7
The teacher said 1o me, "respect your elders"
(A) The teacher ordered me 1o respect my clders.
(B) The teacher advised me to respect his elders.
(C) The teacher advised me 1o respect my elders.

(1) The teacher advised me 10 respect your elders.

13, the correct change of voice

The birds are kept by her,
(A) She keep the birds.
{B) She keeps the hirds.
(C) She Keept the birds.
(D) She is keeping the hinds,

\_/30./ Which one is correer 7
(A} Contineus (B) Contineous o

() Continuous : (D) Continous

M-8-A 11 P.T.O.
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35., He died............. cholera,

(A) of

(C) mt

36. Fill the Blank with missing letter :

-u.u."'rl Rm"-‘"l"ﬂ
(A) ie (B) ai
(C) ei (D) ac

\/ﬁ".". Rom invited me............. tey party.

(A) on (B)  from
(€) at (D) for
\/ﬁ Ramesh was bom.......... Delhi. "
(A) on B) in
(€) to (D) from
39, l-;miI i5 junior.............. me.
/ (A) of (B) from
(C) by m 1w
40, 1t is no use of erving............ split milk.
/ (A} over B for
(©) to D) in = 4

M-9-A 12
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(C) afisf
42, ] S v w5 e £ 7
VA
(C)

h;;/ e W oW fr o )
(A} HELTm
(B) =E3=
(C) w5

@) 3vgw § & =

(B) =
@) ¥ & w1 7

(B)
(D) wm

MR o R e 9

(A) e
EC}’IFE*{!T;
. v ¥ e e ¢ 2
(A) m im0 ;m 2,
(B) = vt &
(C) -t
(D) Togw & | =N ="

M.8-A
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(D) EEAwr
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# = A o= ’
v qeem & 7
(A) Tremr (B) WTem
(€ (&) w1 (@) < D ¥ T 5% 5

r

/ Fﬁ--mwa}a,m#:
[A) T
(B) fagr
(C) wefy
(D) Tirewi

49. 'mmﬁuﬁ?:mqmm:

(B) g
(€ 7%

D) =547 § & % =
#:y.arr.qq?r.ﬁmhﬁwwmmﬂi? s
(A) TFFE (B) e

(C) frr ’ @ ¥ & 55 o

M-3.4 14




ELEMENTARY MATHEMATICS

‘S/L/‘.-'HT+Txﬁ='.-"
i (A) 336 (B) 91

(C) 13 (D) None of these
TxT+Txb6=7
(A} 336 (B) 9
(C) 13 D) = 7 Wi =
Vm of o number subtracted from 1/3 of the number gives 12, The number is :
VO (A) 144 (B) 63
(C) 120 D) M
ﬁ:ﬂ#mrﬁmﬂ‘émaﬂm&mumt,wﬂhi:
(A} 144 (B) 63
(€} 120 m 72 =

3./ How many number up to 100 are divisible by 77

v (A) 14 (B) 107

(C) 100 D) 93
100 7 TRl Heod 7 A fywiw ¥ 2
(A) 14 (B) 107
(C) 100 = (D) 93
S4. ~What is the sum of all Prime numbers from 60 1o 80 °
v (A) 351 (B) 361
(C) 349 (D) 341
60 B 80 TF BR AT e wmoam owq £ o 3
(A) 351 2 (B) 361
(C) 349 (D) 341

M-3-A 15 P10



\/5'_' (1) = (2) x (=3) = (~4) = (=5} et
(A) 110 (B) 120

(C) 120 (D) -160

(=1) % (=2) = (=3) % (49) % (=5) = ...
{A) 110 (B) 120

(C) ~120 (D) 160

5?/2# is divided into two parts such that 7 times the first part added 10 5 times the
J second part makes 196. The first pant is :

(A) 17 (B) 13
(C) 16 (D) N

R W A fawt few T f v v # e 0w s s
smqaimwﬁm‘tﬁﬂuﬁﬁmilmm#:

(A) 17 (B) 13
(C) 16 ) 11

- What is the number just more than S000 which Is exnctly divisible by 73 7
(A) 5037 (B} 35001
(C) 5027 (D) 5009

5000 % sfew %) HWem WM ® W O @ dw owr fawew oo

(A) 5037 (B 5001

() 5027 v (D) 5009

M-2-A 16
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38, A 70% of students in a schiool are boys and the number of girls is 504, the
number of boys is :

- (A) 1176 (B) 1680
(C) 1274 (D) None of these

?ﬁﬁﬁMﬂ'?ﬂﬁmmiﬁﬂTﬁmﬁmjﬂi?ﬂ
WER W Hew wmm % 7

(A) 1176 (B) 1680
(C) 1275 (D) ¥ | =i =
__,-'

5!} ;"I‘h: average monthly salary of a staff of 9 persons 15 Rs. 2,650 is transferred,
%/ Find the average salary of the remaining 8 persons of the staff,

(A) Ra. 2,425 (B) Rs. 3,025
' {C) Rs. 2,625 (D) Rs. 2825 s
ymﬁ;mmmwm:,ﬁﬂmﬁmm’mm If_
iimﬂmﬂmamﬁﬁmmaﬁmmmz E
. (A} % 2,425 (B) % 3,025
(C) % 2,625 (D) % 2,825
\ 60,7 The ratio of boys and girls in a school is © - 5. If the total number of students
in the school is 1050, the number of boys is :
(A) &90 (B) 785
(C) 673 (D) None of these

H?ﬁﬁ#ﬂﬁaﬁtﬂhﬁw:ﬂmnrﬁﬁ|#mjﬁﬁﬁ@ :
ER 050 ¥ A wew # wew ¢

(A) 890 . (B) 785
(C) 675 @) v § wi W

M-3.4 17 P.T.O.
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6.

/

In what time will Rs. 500 give ®Y, 50 as inferest a1 the rate of 5% pa 5.1 7

{(A) 3 years (8) 2 and half veurs

(C) 2 yems (D} 4 years
sﬂmﬁmmmﬂﬁm&mﬂmﬂﬁuﬂmsuﬁmm?
(A) 3 = (B) 2% o

(C) 2 =4 () 4 =%

There are four prime mimbers written in nscending order. The product of the firg
ﬂmiaiﬂim&ﬂm::fﬁlsmuueeis 1001, Find the first number.

{A) 7
(B) 3
(C) 17

63. /A boy was usked to multiply a certain number by 25. He multiplied by it by 52

3 J"

and got his answer more than the correet one by 324. The number 1o be multiplied
Was ;

(A} 25 {B) 32

(C) 12 . D) IS

-

M-9-4 18
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v wEm d uw Tt dem owm 25 A o= % fmommomm oo
52 W W FEm odm oo IR OW 34 R s wE TR ) m oW
W Hem or -

{A) 23 (B) 32

(C) 12 (D) 13

.+ A group of students volunteered to finish a construction work in 25 days. 10 of

the students did not come and the work could be finished in 35 days. The original

number of students in the group were :
(A) 25 (B) 37
(C) 32 (D} 35

o F uE R R 25 Bl F um i w=d w oww ¥ fm ower @
wm fE o ol F W 10 v oW osm oSk owm 35 R F w9 wew
B oww F ol W owm wWem wwmodt 7
(A} 23 (B) 37

(C) 32 (D) 335

A -man walk from his house ot 4 km/hr and reaches his office 5 minutes late. If
his speed his 5 km/r, he will reach his office 10 minutes carly, How far is his

affice from home 7
(A) 572 km (B) 5km i

(€} 312 km * (B) 15 km

M-8-A 19 P.T.O.



TH W AW W O o4 TR W owm A wem € s sy s
s T 8§ e § ) o s Wm 5 felide Ol @ oaw oamd
WEH 10 frE T Sgew | awe Aiew IR oW ¥ feeht o mw & 7

(A) 5f2 faw, (B) § .

(C) 5/12 (D) 15 Fsft,

66. Harish was 40 years old when his son Sunil was bom. How old was Harish when

/
/ he was § times a5 old as Sumil 7
bV 4
(A) 40 vears (B) 60 vears

{C) 45 years (D) 50 vears
mmaﬂmmmmEﬂﬁﬂﬂwwwmnmmqﬁm
ﬁiwmﬂiﬂapﬁmﬁﬂﬂwﬂﬂ.?

(A) 40 = (B) 60 v

(C) 45 wd (D) 50 =i
:

/
/
67, Measure of the two angles between hour and minute hands of a clock ar 9:00

\-’} am is :

“{A) 60 Depree (B) 45 Degree
(C) 90 Degree (D) 180 Degree
W 000 T NG W gl va W R T G ww oW oAw
(A) 60 e (B} 45 fedt, _ .
(C) 90 fiit (D) 180 i,

M-9-A 20
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69.

o,

A coin s tossed to decide which team staris the game. What is the probability
of your team will stari 7

(A) 0.25 B) 0.50
(C) 1.00 M) 005

ﬁqﬁ#ﬂaﬂamﬁﬁﬂﬁhamﬁ*ﬁqwﬁﬁmmm
tlmm%hmﬁﬂqﬁﬁﬂﬁmﬁ?

(A) 0.25 (B) 050
() 1.00 (D} 0.05

Aniﬂnhuﬂulnyfnrhlﬁmﬂulhitﬁtﬂs.Eﬂ.Fimh.isgﬂin."lnmpnmtlge.
(A) 15% (B) 20%

(C) 10% (D) 18% v
E‘ﬂﬁlﬂ"ﬁﬁﬂﬁiHEﬂ’EﬂmiﬂhsﬂE R e —
mE hEm F o Hifoy -

(A) 15% (B) 20%

() 10% (D) 18%

The length of g rectangular field is twice its width. A man talked around it

5 times,and covered n distance of 3 km. What is the length of the field ?

(A) 100 m (B) 150 m
(C) 200 m (D) 250 m

(A) 100 =, 3 (B) 150 =,
{Cy 200 (D) 250 =,

M-3-A 21 P.T




(A} A popular Social networking site

(B) A novel
(C) A wol

(D) e-Mail service

s W oE )

(A) TF wiwliT S e g
(B) =% Ivm

(€) T T

(D) §-59 #

72. , What is Computer Virs 7
(A} One kind of program, which is harmful to computer operation,
(B) A discase
(€Y A hardware part of comptiter
(DY None of the ahove

TR A ¥ R )
qummmﬂmwﬁmm#mmmi
(B) W i - &
tﬂlmmﬁ‘mﬁmw

(D) =9 & 9 w5 T

M-5-A 22



73. What is Pen Drive : i

/ {A) Dam Storage device (B) Writing instrument
. / (C) Computer software (D) None of these
W oEem W oE 7
(A) =@ w=Hw feamm (B) #EA Ty
(C) Fva Hiwam (D) ¥ & F¢

T4, _;Whi:h device will give you the printowt of any document ?
\/ (A) Keyboard
(B) Mouse
(C) Printer
(D) Monitor
LS U R I S ———
(A) T
(B} w=H
(C) fa=m
(D) e

V‘hﬂ g;':'ﬂ power backup to computer during power cut/ electricity shutdown 2
(

A) CPU (B) UPS

(C) USB (D) Mouse
Mﬁﬁwmaﬂwhmaﬁwmj?
(A) Hidtg, (B) gutwH,

(€) m, . @) ==
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76.  ATM/Dehit card is used for -
. (A} Banking
(B) Introducing yourself
(C) Inviting somebody
(D) None of the above

mmdﬁamﬁﬁwfama%fmmﬂmrm%?
(A) &
(B) o7 wfrmg o
©) i 5 anifm =
D) 3" 4 & =f 4w
. Gmeujng of Haryana program is related 1o o
 {A)Plantation (B)  Imigation
(C) Coloring (D) None of thesp
L AR - - e wafm ¢ )
(A) ey (B) fifard
(C) ¥m % D) 7 7 =% a5
78, _-f’{ﬁich State is situated jp the cast of Haryana ¢
M A) Utter Pracesh (B) Delhi
(C} Rajasthan (D) Punjah
LU - e . T feufy # 7 -
(A) Im w2y (B) et
(C) Taeam - (D) van

M-3-A 24



9.
4

NS

8.

8l.

L]

.f‘ﬁuw many food parks are there in Harvana 7

(A) 9 (B) 11
(C) B M 4
tham F fet 52 o= ¥ 7

(A) 9 (B) 11
(C) # (D) 4

Which Distriet of Haryana is called as Petrochemical hub 7

(A) Panipat (B} Ambala

{C) Bhiwani (D) None of these
wiaen ¥ TR e w1 toefee W otwoww oW £ 7
(A) WFHMm (B) svEmwn

(C) Torlt (O} = A ¥ i
How many Members of Parlinment are elected from Harvana 7
(A) 19 (B) 16

() 10 ) 22

gieaon # TR WeR WeE 9t SW © 0

(A) 19 B 16

(©) 10 o 2

82, Who is known as lronman of Haryana ?

'

(A) Ramdev (B) Bansilal

() Khali (D} None of thise g
tham = @mE 7 (dF g & 5= @a & ’

(A) T " (B) S

(C) D) =i |/ i ani

M-8-A 25 P.T.O.
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83" Who was the first Governor of Haryang 7
V' () Dharmachang
(B) Chandraveer
(C) Dharmvesr
(D) None of the above
BT W owmm vy sty i
(A} e
(B) =iy
(C) sy
D) =9fm d & wr o

#H- Jalmahal is situated in -

P! Karoal (B) Narnau|
(C) Rohtak (D)  Panipa
e Wl fom 2 )
(A) Fowma o (B) =it &
(C) T o (D) 9ty
H.'-T_.;/ Which district of Haryann jg topper in cultivating the sugnrcene 7
A A (B)  Yamunanunr
(€] Panipat (D) None or these
wﬁﬁmﬁiﬁqrﬁmwﬂmfﬁmlﬁﬂ.hﬂ?mw#?
(A) sr=rm (B) =R
(C) it . D) ¥ & 56 -

M-5-4 26




%6. Which answer figure will complete the pattern in the guestion figure 7

AQuestion Figure :

N

Answer Figure ;

(A) {B)
© [ o [

s argfy d FEE oW syl e oS o w0 7
WA g :

A
4k

I IR

i

(A) m (B) ﬂ
(C) (L¥) N

n

87. AAE 1 BD i Ef 1 2
'-//{."L'l PG b (B} FH

(C) BC (L) B3
M-8-A 27 PGl




AE : BD = Bl : 9 "

(A) FG (B) FH
(C) GC () BD
A, 2:8:3:9
(A) 8 (H) 9
(C) 12 (D) 12
2:823:7
(A) 8 (B) 9
(C)y 12 Dy 12
89. Aand B are sisters. ¢ and D are brothers, A's daughior is D's sister, How B is
/ related ta C 7
U,"f {A) Sister (B) Cousin
(C) Mother (D) Aunt
A T Bmg—,f#rc'am[:ﬂrfﬂlh'ﬁ'ﬁﬁﬁ?ﬂﬂf?iﬁfrﬂﬁr{'
@ wmogawy & 7
(A) @ (B) it A
(Cy wmm (D) =i
M. There arc five friends A,B CDandE Cis the milest B 15 shorier than E but

oA

" taller than A and D A e oot the shortest in the group. Who has the equnl ntrmher
ol shorter and taller friend in the group 7

T ¢ (B) E
(C}) B D A

oy feremedf ABCDTMET | C o98 i 8 | 8wy ¢ E #
%A&hﬂﬁmﬂrnwﬂﬁmmﬂﬁtlmﬂaﬂé

W & wET W o of =
(Ay C (B) E
() B " (D} A

M-9-A 28 =
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